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Time allowed for the test: 50 minutes
PR 50 A 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.

N
/—:—r—:gs *

IMAHB A BB E

1. The actual number of private cars in
City X is 147 853. When corrected
to the nearest thousand, both the
numbers of private cars in City X
and City Y are the same. Which of
the following numbers may be the

actual number of private cars in
City Y?

A. 146 962
B. 147 843
C. 148 617
D. 151402

1. X 359 % 7 #p 4
147853 «  P~itiig 3 + =5 X
Bl Y By 5 d #kp -7
FlvR— BET A ALY B
*E P ?

A. 146 962
B. 147 843
C. 148 617
D. 151 402

2. The pharmacy needed to distribute
24 boxes of masks. If each box had
8 packs of masks and each pack
had 20 masks, how many masks did

the pharmacy distribute in total?

A. 160
B. 480
C. 3480
D. 3840

2. HERFRFE2 T E ook E g
r¥3 8¢ Fe 0 §F 200
By ¥ 50 R 9

A. 160
B. 480
C. 3480
D. 3840




3. [ 4|6 ||| s a 3-digit number.
When it is divided by 25, the
remainder is 13. Which of the
following is | ¥ |?

A |1
B. |3
C.|5
D.|7

3. (4lle||lx| - B=i>#c-F T
FIRPARE S S ORI B

Y| ?
Al
B. |3
C.ls
D. |7

4. A box of 16 ballpoint pens sells for
$240. The average price of each
ballpoint pen is more expensive
than that of each pencil by $5. To
buy four dozen pencils, how much
should be paid?

A. $720
B. $640
C. $480
D. $360

4. - FRFL4 164> LA
8240 o £ jx i+ £ T30 ok
B d S5 e B 44T R H 5

9

A. $720
B. $640
C. $480
D. $360




5. The fifth common multiple of two
numbers is 180. Which of the
following groups of numbers may be

these two numbers?

A.3> 12 A.3> 12
B.4-9 B.4-9
C.5>36 C.5>36
D.6 > 30 D.6 > 30
6. If each represents 1, 6. 4ok = B S B
what is the result of adding up all the LRGSR IR A R A E A A (8
numbers represented by the shaded ke R
parts of the following figures?
11 11
. 112 . 112
1 1
19 19
C 2 C 22
D 4 D 4
"~ 13 "~ 13




¢ 20 ® 20
9~ 9

7. 1f 9 =0, then  —20 =7? 7. &r%g— =0 7R >
®-20=7
A.0 A.0
B. 1 B. 1
C. 4 C.4
D.38 D. 8

8. Yesterday, 585 people participatedin | 8. Ff % 3 585 X St fEEH € -

4 , 7
the inter-school sports meeting and Ho 5 o Aok A T X
4
15 of them were teachers. If 75 of RS BRI
the teachers were male, how many
teachers were female?
A. 65 A. 65
B.91 B. 91
C. 130 C. 130
D. 182 D. 182
3 PR T N B IPE "R e\ 3 z1 §& A
9. Each sealed tank can hold Z?L of 9. = b % IHEF LR $ 2? By o
honey. How many sealed tanks can bokF 1302 F > VB AT
be fully filled if there are 130L of LE S N2
honey?
A. 338 A. 338
B. 75 B.75
C. 50 C. 50
D. 25 D. 25




10. The correct solution of an equation
was 1624.753, but Susan wrongly
exchanged the thousandth digit and
the hundredth digit. Which of the
following numbers was the solution
Susan found?

A. 6124.753
B. 1624.735
C. 1624573

D. 1524.763

10. % > feeni o fz 8 1624.753 » i
AP Ereids F 4 e E A bl

I3 o 1T UR— B E dpp T T

SR 0

A. 6124.753
B. 1624.735
C. 1624.573
D. 1524.763

Each
$98.9

i
P

11. There are 1 badminton racket and 3
badmintons in a combination set, the
price is $110. If the same number of
badminton racket and badminton are
bought, how much can be saved by

buying the combination set?

A.$9.3
B. $10.3
C.$25.8
D. $193.5

$6.8

A.$9.3
B. $10.3
C.$25.8
D. §193.5




Price List of Silk rope

+

. > 2 231
‘@'—5—3— I‘Z\'

Package Length(meter) Price
¢ % £ R () X
S/?“f‘;l 50 $9.8

Mf,digm 100 $14
barge 200 $24.5

12. According to the above table, how 12, 1395+ £ > pL 2 % §49 & 5 7

many meters of silk rope can Mr RSB S D
Chan buy for $49 at most?
A. 250 meters A. 250
B. 300 meters B. 300 3
C. 400 meters C. 400 s
D. 450 meters D. 450 ¥
13. Eric exercised for Z%hours. Jack 13. 3 FEH 2%,1‘ P oo Tg A i@
exercisied less than Eric but not less PER L R et o 2 x 2 b 2%
than ZZhours. Which of the following S EE e T ER— BV gy A_E A D
could be Jack’s exercised time? Ed PR ?
A. 2.75 hours A.2.75 /] p=F
B. 2.6 hours B.2.6 /]
C. 2.3 hours C.23 /] p*
D. 2.1 hours D.2.1 /]




14. Arrange the following three numbers

from the largest to the smallest:

| 7
28 > 210 ~ 205%

7 1
A. 210>2 3 >205%

7 1
B. 210>205%>2 3

1 7
C.2 3 >210>205%

1 7
D.2 3 >205%>210

14, 3= 17 = Bed + 3

1 7
28 ‘ 210 ~ 205%

7 1
A. 210>2 3 >205%

7 1
B. 210>205%>2 3

1 7
C.2 3 >210>205%

1 7
D.2 3 >205%>210

15. There are 80 employees in the
company, 10 of them live in Tuen
Mun and 20% of the remaining
employees live in Mong Kok. What
was the percentage of employees live
in Mong Kok to all employees in the

company?
A. 16%
B. 17.5%
C. 20%
D. 20%

A.16%
B. 17.5%
C. 18%
D. 20%




16. Which of the following descriptions
about isosceles triangles is

incorrect?

A. A rhombus can be formed by
fitting two 1sosceles

triangles of the same size.

B. A trapezium can be formed by
fitting three isosceles

triangles of the same size.

C. A triangle can be formed by
fitting four isosceles triangles

of the same size.

16. = 7|vi— 5 4 B L= &)

A A B iRk hEE= &

e A - BFEA

B. = ] pFenE gz &
AV A - BRA e
C.zBrx ]k aEE= 4
A uF - Bz &3
D. T B~ | 4plenE gz &

Ilj °
D. A parallelogram can be formed
by fitting five isosceles
triangles of the same size.
I II 1 1A%

17. Each of above shapes is formed by
fitting six squares of the same size.
Which shapes have only one axis of
symmetry?

A.Tand I1
B. IT and III
C.Iland IV

D. Il and IV

17. 7+ = B gg]zw;?;rsgi S A 2
O AR EFA B o URIE B]AS T

L 0

ATz 11

B.1I # III
C.lIz 1v
D.II # IV

B AT 5 (] 6) 10



18. Anne drew a straight line on a 18. Eaci— k& > AjenM P F 0 —
rectangle paper and two trapeziums EE A FNS B, o T SR
were obtained. Which descriptions in e d it T R

the following must be correct?

I. There are two right angles in L #BHGEFs EE & o

each of the trapeziums. , ”
P INERSTETETES PTEI

II. The perimeter of two HL & B384 - Ead -
trapeziums were equal.
III. There was an obtuse angle in

each of the trapeziumes.

A.Tand II only A 731210

B. I and IIT only B. 3 12 10
C. Il and III only C. n3 II2 1
D. I, IT and 111 D. I-11%2 III

19. By using all plastic sticks and plastic | 19. * 17T & i = §8 B2 575 ¥ i%

beads of the following two 3-D TR B SV F BT
shapes, how many pentagonal b 407

pyramids can be formed at most?

A.2 A.2
B.3 B.3
C.4 C. 4
D.5 D.5

B AT H 5 (] 6) 11



20. The above figure is formed by seven
circles of the same size and one
trapezium. E, F, G and H are centres.
If the diameter of each ciecle is 4cm,

what is the perimeter of the

20. B4 = @ L] AR ke cPFl o @
#A ke o E~F~GqrH 4
S o hed & B ehE 2 E dem o

g 1

Bk FAS Y

trapezium?
A. 56cm A. 56cm
B. 28cm B. 28cm
C. l4cm C. l4dcm
D. 12cm D. 12cm
Figure 1 ¥ Figure 2
Bl - 2] I—:
28¢m 20cm |:>

28cm

21. Figure 2 1s formed by fitting the square
and the rectangle shown in Figure 1.

What is its perimeter?

A. 168cm
B. 142cm
C. 136cm
D. 128cm

21. Bl= A4 Bl- 977 el 2 A ek 3
AR A A vt B A0

A. 168cm
B. 142cm
C. 136cm
D. 128cm

12



22. A mouse mat is formed by two

semi-circles and a square, as shown

above. If the mouse mat is 20cm long,

what is its perimeter? (Take m as 3.14)

20cm

22,

SR REA B BL - BD
S Ay g et B o ded %k
HEE 20cm > v RS0 ?

(Bn 5 3.14)

A.35.7cm A.35.7cm
B. 51.4cm B.51.4cm
C. 62.8cm C. 62.8cm
D. 102.8cm D. 102.8cm
X
30cm W Y
Z
38cm

23. In the above figure, W, X and Z are

squares. Find the area of Y.

A. 1140cm?
B. 570cm?
C. 176cm?

D. 112cm?

23.

LVE W XAeZ £
LY ha A o

A. 1140cm?

B. 570cm?

C. 176cm?

D. 112cm?

13



i IScm i I7cm

'
,' ‘ . .
7’ 7,
‘ . . 1ocm /l. . . locm
7’

12cm 12cm

24. According to the above figures, what | 24. 1335 + B > - B @ ¥ 2%

is the volume of one @ ? s
A.300cm’ A. 300cm’
B. 168cm’ B. 168cm’
C. 80cm’ C. 80cm’
D. 40cm? D. 40cm®

25. Truck M takes 20 minutes to travel 25.M p & (7% 18km 7 & 20 4 45 »

18km and Truck N takes 40 minutes N b # 7% 44km F & 40 ~ 45 o
to travel 44km. Which truck has the - fmp BT o F |2 v
slower average speed? What is the [alzae = S I S

difference between their average

speeds?
A. Truck M, 12km/h AM 2 > 12km/h
B. Truck M, 2km/h B.M f & > 2km/h
C. Truck N, 12km/h C.N § # > 12km/h
D. Truck N, 2km/h D.N & > 2km/h

B AT 5 (] 6) 14



26. A 75km bicycle race was held in City
7. A participant started at 08:45 and
rode at an average speed of 50km/h.
When did he arrive at the finishing
point?

A. 07:05
B. 09:45

C. 10:15

D. 10:25

26.Z#FF75km p 78 F o F 4

%fg 7 08:45 41z » 12 50km/h =
Lo FEEF o B AN AR

A. 07:05
B. 09:45
C. 10:15

D. 10:25

15
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Number of Newspaper Subscribers in Primary Six
4 £ 584 TR IF A DA Hic

Each stands for 1 person
& B AV A (A
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27. According to the above graph, what | 27. 123+ B] > 4A fr 4C Fres7 R 3%

was the fraction of the number of Aen A ek (BB A e o 2.
newspaper subscribers in 4A and 4C e

to the total newspaper subscribers?

c . a w »

1
3
e
24
S
12
1
2

Ai
-3
7
B. 74
5
C012
Dl
)

16



Sales of Lemon Tea in a Drink Shop in the Second Season

SRR FORIFEME

e 5F Sweetened
& [ e 7}% = x)
8 4 F
o = -
§ - % Ul;rsxiv:aiggfd
% af
s
PLal e
Ea |
O u
kS 1 F
5 u
(/ctﬁ) |
o E
April May June Month
2 A EgR = VIR
28. According to the above graph, 28. 129t B> T AR gy i ST AR
which descriptions in the following 77
1s correct?
I. The total sales of sweetened lemon L 7 4cpan@ig A 8484
tea is 8000 cups. 9000 #x °
I1.The difference of the sales of lemon I 774 ? g 24V £ 4P
tea between May and June is £ 1000 45 °
1000 cups. OL = 7 4efinip f 5 44 8 1
III. The sales of unsweetened lemon 1 oA m% o
tea in April is half of the total sales
in April.
A.Tand II only Ars 121
B. I and IIT only B.r3 12 I
C. IT and III only C.ry Iz 1II
D. I, IT and III only D.I1-1I % III

B AT E 3 () 6) 17



Rainfall of City F in the First Half Year
L EFBatEa g

180
160

=~ 140

/

= w100 /\( >

S

SE 80 /
=60

40 /

20

January  February March April May June

— -7 = g A 73 20

Month
29. According to the above graph, What | 29. 1343+ B > + £ & Fi3 & 1 T
was the average monthly rainfall of P e N o A I
City F in the first half year?
A.75mm A.75 K
B. 78mm B.78 = X
C. 80mm C.80 = i
D. 82mm D. 82 % &
30. If 2?’1 = 6, what is the value 30. %zri‘iez?n =6 7R pnt7 chig §_%
of n+7? 9
A. 8 A.8
B. 15 B. 15
C.22 C.22
D. 24 D. 24

End of Section A

B 2R

BATALAH X () 6) 18



SECTION B (40 marks) z W (40 »)

Working steps must be shown in answering i Frrldpp oo G F RIRA R TR
questions in this section, unless specified JBA A &
otherwise.

31. The following table shows the scores |31. T 2%+ 3 2584 44 B & #ic&
of two students in the two rounds of ﬁ"‘m% ¢ ok #ic o
the math competition.

Scores of two students in the two rounds of the math competition
B LEA A Bw EEFIREY Dbk

James Karen
X1 * i
Round I
S w2 w 48
};O_Em; IgI 25 44
(a) What was the total score of James? (a) 2R A8iE F " ?2(F
(Give the answer only and express BNEEx . EExwEkT)
the answer in terms of w) [2 4]
[2 marks]
(b) If 2 times of the total score of (b) 4o% £ R i o #ieen2 3§
James was equal to the total score R Rk RS % SRR -
of Karen, what was the score of w Ll HE 5 20CR 2
James in Round I? (Use equation I E o TR )
to solve the problem and show [4 4]
your working steps)
[4 marks]

B AT H 5 (] 6) 19



Number of Rooms

Number of Rooms Booked in a Hotel in the Past Six Months

EFYR g 2 B TgTen s B gD

32. (a) According to the above graph,

from January to June, how many
Rooms were booked in the hotel

monthly on average? [4 marks]

(b) When the difference between the

number of rooms booked in the
hotel in two consecutive months
was greater than 100, it indicated
that there was a significant
change in the number of tourists.
According to the above graph,
which two consecutive months
had a significant change in the
number of tourists? Explain by

using the data. [2 marks]

400
300
£ 200 ||
[y
-7 -
100 -
0
January  February = March April May June
— B - -1 o iR = A
Month
LIS

32. (@) Ryp B d -2 220
LA e s -

I 2T

R R R i R s
BPAPE <100 F - Bl &
TR R R G P AR o
195 B R EIREE A
TR AR P G arE L i E
FREERL o [2 4]

(b)

20
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20cm
Figure 1
Bl -
33. Sammi is designing a logo for a shop. | 33.

After she cuts along the dotted line in
Figure 1 to remove two triangles, a
trapezium is obtained as shown in

Figure 2.

(a) What is the area of the trapezium?
(Give the answer only) [2 marks]

(b) Sammi used the trapezium of
Figure 2 to design two logos for
the shop as shown below. She
believes that the areas of the
shaded parts in the two designs are

the same. Do you agree? Explain.
[4 marks]

Design 1

22l
PRt

Figure 2
] =

LR B R A RS
LtH-hERTEA B £3505
7B = Ao ) e

= =

(@ A m FAZ S 2(RERD
z %) [2 4]

(b) T BIE T LAY Bl $A507

e R4 s o 4

B B IE RN G ff -
N S R s

[4 7~ ]

> Y

S =

Design 2

I

B
ik

21



34. The following table shows the ticket |34, ™ A kg r b ZF M L 8 o
prices of Happy Land.
Regular Day Peak Day

Fap FEp

Adult
3 4 5280 $480

Child (aged 12 or below)

FE (12 AT $210 $360

(a) What is the percentage of the
price for a child to that of an
adult on the regular day? (Give

the answer only) [2 marks]

(b) Mr and Mrs Lee went to the
Happy Land with 3 daughters
aged below 12 on a regular
day. How much did they pay
altogether for the tickets?
(Give the answer only)

[2 marks]

(c) Ms Wong went to the Happy
Land with 3 adults and 2
children together on a peak
day. She bought the tickets
at membership rates and
could pay 10% less. How
much did she pay in total?

[4 marks]

@ &afEp |1

LEPEH A

FARAF AL (RAD
HE ) 2 4]

(b) 243 fe2 X 44 F 3 2]

312 ek 2 A d i p o3
W B F| I o WP
SR (= R
*) [2 ~]

\1-‘- (

REEEY
;ﬂ_l'_
&

WFF 3 L Adr2
’n}_"f*iﬂ J*E"ﬂ?"—i*'fﬁlf?r
Svn g BT PR
uIO%m‘}{”* o by X
[4 =]

AN
N
Y

~0
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35. A customer was rewarded a lucky bag | 35. fEZ & A B H-p #8560} 7 +
for every spending of $60 in the Star EFE- BimKE -
Mall.
(a) Eric spent $285 in the Star Mall. @ 2 E Ak hH ii%;}i’ %
How many lucky bags did he get $285 o W B 5T IEE 4
at most? (Give the answer only) BARR 2 (R A B N ¥ %)
[2 marks] 2 4]
(b) One of the serial numbers of (b) i & ehd ¥ — B iR R i
Eric’s lucky bags was a 2-digit PR Ty
number. The 2-digit number was 14 i B0 34k 10 ﬁfﬂf .
a multiple of 14 and divisible by AR R P R (5
10. What was the serial number BohE %) [2 4]
of that lucky bag? (Give the
answer only) [2 marks]
Hair Salon
g X
X
Clothing Shop
PR T
Accessory shop
5
(c) According to the above floor () Rypm B H T 5 B > § R
plan of the mall, the Hair Salon AR e 3 > o drk
was in the southwest of the 2 REPRE R AT AR 5
Clothing Shop. If Eric wanted to oo B E e IR S e 47
go to the Accessory Shop from (FEB I E%) [2 & ]
the Clothing Shop, in which
direction should he go? (Give
the answer only) [2 marks]

BATALAIH B 5 (] 6) 23



36. (a) Mother bought a cuboid taro cake

11 Ocm

10cm

<

v

20cm
Figure 1

]'ﬁ?]__

and put it into the cuboid paper
box shown in Figure 1. Complete
the net of this paper box on the
answer sheet. [2 marks]
(b) Mother divided the taro cake into
4 portions evenly along the dotted
lines as shown in Figure 2. What
was the volume of each portion of
taro cake? [4 marks]
(¢) The weight of the whole taro cake
was 900g.The weight of taro and
shrimp weigh 380g and 160g
respectively. What was the fraction
of the total weight of taro and
shrimp to that of the whole taro
cake? (Give the answer only)
[2 marks]

16cm
Figure 2
Bl =

36.(a) 4545 %
oo T v~ B]- hE SR
HKEMN o AZEFKE 2B

A g B A BE o [2 %~ ]

~ BE R E R

= 4 i ﬁr}%}_ AR

A RS S 7 [4 4]

0.4-]},

(c) FH.ZepfxE £ 4 900g

e fodg o hE B A B £ 380g
i 160g o FEpfoip sk i E
EEREFRERAASLS2HT
(% ' ER) [2 ~]

T \-xs

'?”ﬁ%

End of Test Paper
Pk S =2
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